

Page 1 of 4

Contract ID: 18472 Counties: OCEAN

Letting Date: July 26, 2018 District(s): H4

Call Order: 472 Project(s): STATE

Contract Time: 12/31/19 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging of the Metedeconk/Kettle Creek Complex

Line No / Item ID Item Description		(1) H&L CONTRACTING, LLC		(2) MOBILE DREDGING & VIDEO PIPE, INC.		(3) FERREIRA CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		Cat Alt Set:		t Set:	Cat Alt Member:		
0001 151006M	1.000	185,000.00000	185,000.00	96,000.00000	96,000.00	171,816.00000	171,816.00
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	185,000.00000	185,000.00	30,000.00000	30,000.00	50,000.00000	50,000.00
OWNER'S AND CONTRACTO PROTECTIVE LIABILITY INSURANCE	DR'S DOLL						
0003 152015P	1.000	35,000.00000	35,000.00	15,000.00000	15,000.00	40,000.00000	40,000.00
POLLUTION LIABILITY INSU	RANCE DOLL						
0004 153009P	(1)	150,000.00000	150,000.00	4,000.00000	4,000.00	8,000.00000	8,000.00
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	7,100,000.00000	7,100,000.00	8,984,563.00000	8,984,563.00	10,777,891. 00000	10,777,891.00
MOBILIZATION	LS					00000	



Page 2 of 4

Contract ID: 18472 Counties: OCEAN

Letting Date: July 26, 2018 District(s): H4

Call Order: 472 Project(s): STATE

Contract Time: 12/31/19 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging of the Metedeconk/Kettle Creek Complex

Line No / Item ID Item Description		(1) H&L CONTRACTING, LLC		(2) MOBILE DREDGING & VIDEO PIPE, INC.		(3) FERREIRA CONSTRUCTION CO., INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		Miscellaneous		Cat Alt Set:		Cat Alt Member:		
0006	155003M	1.000	150,000.00000	150,000.00	20,000.00000	20,000.00	40,000.00000	40,000.00
FIELD OF	FFICE TYPE A SET UP	o U						
0007	155021M	17.000	5,500.00000	93,500.00	2,500.00000	42,500.00	2,800.00000	47,600.00
FIELD OF	FFICE TYPE A NANCE	МО						
8000	157004M	1.000	250,000.00000	250,000.00	20,000.00000	20,000.00	135,000.00000	135,000.00
CONSTR	UCTION LAYOUT	DOLL						
0009	158048M	3,100.000	350.00000	1,085,000.00	33.00000	102,300.00	80.00000	248,000.00
FLOATIN TYPE 3	G TURBIDITY BARRIE	ER, LF						
0010	158072M	2.000	7,500.00000	15,000.00	500.00000	1,000.00	850.00000	1,700.00
OIL ONLY	Y EMERGENCY SPILL	KIT, U						



Page 3 of 4

Contract ID: 18472 Counties: OCEAN

Letting Date: July 26, 2018 District(s): H4

Call Order: 472 Project(s): STATE

Contract Time: 12/31/19 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging of the Metedeconk/Kettle Creek Complex

Line No / Item ID Item Description		(1) H&L CONTRACTING, LLC		(2) MOBILE DREDGING & VIDEO PIPE, INC.		(3) FERREIRA CONSTRUCTION CO., INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous			Cat Alt Set:		Cat Alt Member:			
0011	159018M	1.000	5,000.00000	5,000.00	2,500.00000	2,500.00	1,900.00000	1,900.00
CONSTR SIGN, 6'	RUCTION IDENTIFICA X 12'	ATION U						
0012	161003P	(1)	950,000.00000	950,000.00	4,000.00000	4,000.00	15,000.00000	15,000.00
FINAL C	LEANUP	LS						
0013	201003P	(1)	15,000.00000	15,000.00	1,000.00000	1,000.00	20,000.00000	20,000.00
CLEARII	NG SITE	LS						
0014	MMG014M	180,690.000	33.00000	5,962,770.00	51.16000	9,244,100.40	68.25000	12,332,092.50
DREDGI	NG	CY						
0015	153011M	1,000.000	70.00000	70,000.00	200.00000	200,000.00	100.00000	100,000.00
TRAINE	ES	HOUR						
Section Totals:		9	\$16,251,270.00	;	\$18,766,963.40		\$23,988,999.50	



Page 4 of 4

Contract ID: 18472 Counties: OCEAN

Letting Date: July 26, 2018 District(s): H4

Call Order: 472 Project(s): STATE

Contract Time: 12/31/19 COMPLETION DATE Min: Max:

Contract Description: Maintenance Dredging of the Metedeconk/Kettle Creek Complex

 Contract Totals
 \$16,251,270.00
 \$18,766,963.40
 \$23,988,999.50

 Cost Plus Time Totals
 \$16,251,270.00
 \$18,766,963.40
 23,988,999.50

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 472 Contract ID: 18472 Counties: OCEAN

Letting Date: July 26, 2018 10:00 AM District(s): H4

Contract Time: 12/31/19 COMPLETION DATE

Contract Description: Maintenance Dredging of the Metedeconk/Kettle Creek Complex Project(s): STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	H3450	H&L CONTRACTING, LLC	\$16,251,270.00	100.00%
2	M6019	MOBILE DREDGING & VIDEO PIPE, INC.	\$18,766,963.40	115.48%
3	F2743	FERREIRA CONSTRUCTION CO., INC.	\$23,988,999.50	147.61%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,